
NAPLAN 2015 paper test answers

Year 9 Reading Numeracy 

Calculator 

allowed

Numeracy

Non-

Calculator

Language 

Conventions

1 c b b traditional

2 d c b pumpkin

3 c a a routine

4 a c b theory

5 c b b orbit

6 b a d radius

7 d c b salmon

8 a b c hilarious

9 c b c hectares

10 d a a illegally

11

*see note 

below d c absolutely

12 b c d convenient

13 a c b queue

14 d c d vigorous

15 c 5 062 043 a consignment

16 b c c buoyant

17 b d d identity

18 a a a experience

19 d d 90 glacier

20 b b d achieved

21 a 40 a wreckage

22 c a a

circumnavig

ate

23 d 350 6 platypus

24 b 70 a census

25 d 2197 d noxious

26 c d d contradicted

27 d d e foliage

28 b 655 d aerial

29

*see note 

below a 4500 occasionally

30 a 120 c veterinarian

31 c 33 38 b 

32 a 65 180 b 

33 c d
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34 b b 

35 c c

36 a a

37 b c

38 a a

39 b a

40

*see note 

below b 

41 a b 

42 c a

43 c b

44 b c

45 2,3,5,4,1 a

46 d a

47 a b

48 b b

49 b b

50 d c

51 d

52 d

53 c

54 a

55 a

56 d

57 d

58 a

*Q11 Response refers to natural and/or unforced laughter.

*Q29 Response gives two interpretations: the article is an eye-opener because it tells you 

previously unknown information about caffeine and an eye-opener is something that 

wakes you up, which is one of caffeine's effects.

*Q40 Response identifies all three of the following: atmosphere, magnetosphere, solar wind.


